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Unit 16 同步练习(1)
一、单项选择题

1.—When can I come for the photos? I need them tomorrow.
—They ____ be ready by 4:00.
A. can  B. should C. might D. need


2.My dictionary has disappeared . Who ___have taken it ?
A. should B. must     C. could     D. would


3.Jack ____be a policeman, for he is too short .
A. needn’t  B. can’t C. should    D. may


4.—I heard that they went into the mountains yesterday .
—I ____true because they must attend an important meeting today .
A. may not be     B. won’t be    C. couldn’t be    D. mustn’t be


5.My sister met him at the station yesterday morning , so he ____your lecture .
A. couldn’t have attended      B. needn’t have attended
C. mustn’t have attended             D. shouldn’t have attended


6.I have lost one of my gloves . I ___it somewhere.
A. must drop        B. must have dropped
C. must be dropping       D. must have been dropped


7.—Our team will play against the Supersonics this weekend. I’m sure we will win.
—_________!
A. Good luck    B. Cheers 
C. Best wishes  D. Congratulations


8. 

Such is _______human nature that many people don’t value ________things they possess until they have lost them.
A. /; / B. /; the  C. the; the  D. a; the


9.I keep medicine on the top shelf, out of the children’s _______.
A. reach   B. hand   C. hold    D. place


10. 

If you can’t decide which of the two books to borrow, why don’t you take _______? I won’t need them this week.
A. all   B. any    C. either  D. both

二、阅读理解
1.    Two American scientists told the people in industrial nations that they would be much healthier if they ate more of the same kind of foods eaten by humans living more than 10,000 years ago.  
    The scientists say that the human body has changed very little since human first appeared on earth, but the way we live has changed greatly. Our body has not been able to deal with these changes in life style and this has led to new kinds of sicknesses. These new sicknesses were not known in ancient times. So they are called “diseases of civilization”. Many cancers and diseases of the blood system, including heart attacks and strokes（中风） are examples of such diseases.  
    Scientists noted that early stone-age people used very little alcohol or tobacco, probably none. Ancient people also got a great deal of physical exercise, but a change in food is one of the main differences between life in ancient times and life today.  
    Stone-age people hunted wild animals for their meat, which had much less fat than farm animals. They also ate a lot of fresh wild vegetables, and fruits. They did not use milk and other dairy products, and they made very little use of grains. But today, we eat a large amount of dairy products and grain foods. We eat six times more salt than stone-age people. We eat more sugar. We eat twice as much fat but only one third as much protein and much less vitamin C.  
People today probably do not want to live as people thousands of years ago did, but scientists say that we would be much healthier if we ate as those ancient people did, cutting the amount of fatty, salty and sweet foods. 


(1).The people in industrial nations would be much healthier if they ate ______.  
A. more foods as humans living 10,000 years ago did 
B. as humans living 10,000 years ago ate 
C. more kinds of food eaten by people living over 10,000 years ago 
D. more of the same kinds of foods eaten by people over 10,000 years ago


(2).New kinds of sicknesses have been found because ______ 
A. the human body has changed compared with human first appearing on earth 
B. the way we live has changed a little 
C. our body can’t deal with the changes in life style 
D. the way we live today are improper for the human body


(3).What is the main cause mentioned in the article why people suffer from a lot of new sicknesses? 
A. Ancient people did a great deal of physical exercise.  
B. People today have a lot of alcohol.  
C. People today have more tobacco.  
D. Food is quite different between life today and life in ancient times.
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